

# **Summary of Bids Received**

**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

Description: Metra crossing

CPMS Pin: B-00702

Let Date: 1/28/2014

Bidder Berger Excavating Contractors Campanella & Sons, Inc. Alliance Contractors, Inc. A Lamp Concrete Contractors, Inc. Landmark Contractors, Inc.	Address 1205 Garland Road 39207 N Magnetics Blvd 1166 Lake Avenue 1900 Wright Blvd P.O. Box 1104	City, State, Zip Wauconda, IL 60084 Wadsworth, IL 60083 Woodstock, IL 60098 Schaumburg, IL 60193 Huntley, IL 60142	Bond Bid Bond Bid Bond Bid Bond Bid Bond Bid Bond	Bid Price \$1,123,456.05 \$1,135,394.47 \$1,254,892.23 \$1,260,839.75 \$1,273,593.95	% Over/Under Eng. Estimate -22.13% -21.31% -13.02% -12.61% -11.73%	-\$187,917.52 -\$181,970.00
Engineer's Estimate				\$1,442,809.75		
Design	IDOT(2)	Contract Bidder		PJT then Plan Rack		
Finance  Construction	Bid Tab File  Project File	Resident Eng.  Request By Mail		Administrative Assis		



Project: Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

															A Lamp Concret	te Contractors,
Item No.	Pay Code	Description	Quantity	Unit	Eng Est		Alliance Cont		Berger Excavati	•	Campanella 8		Landmark Con		In	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	124.0	UNITS	\$15.00	\$1,860.00	\$14.00	\$1,736.00	\$14.00	\$1,736.00	\$14.35	\$1,779.40	\$14.00	\$1,736.00	\$25.00	\$3,100.00
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	18.0	UNITS	\$20.00	\$360.00	\$30.00	\$540.00	\$30.00	\$540.00	\$30.75	\$553.50	\$30.00	\$540.00	\$30.00	\$540.00
3	20101100	TREE TRUNK PROTECTION	16.0	EACH	\$100.00	\$1,600.00	\$80.00	\$1,280.00	\$80.00	\$1,280.00	\$82.00	\$1,312.00	\$115.75	\$1,852.00	\$25.00	\$400.00
4	20101200	TREE TRUNK PRUNING	16.0	EACH	\$50.00	\$800.00	\$80.00	\$1,280.00	\$80.00	\$1,280.00	\$82.00	\$1,312.00	\$109.00	\$1,744.00	\$50.00	\$800.00
5	20101700	SUPPLEMENTAL WATERING	45.0	UNIT	\$25.00	\$1,125.00	\$0.10	\$4.50	\$0.01	\$0.45	\$0.10	\$4.50	\$0.10	\$4.50	\$5.00	\$225.00
6	20200100	EARTH EXCAVATION	2,601.0	CU YD	\$35.00	\$91,035.00	\$10.00	\$26,010.00	\$30.00	\$78,030.00	\$31.75	\$82,581.75	\$38.90	\$101,178.90	\$32.00	\$83,232.00
7	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	100.0	CU YD	\$25.00	\$2,500.00	\$30.00	\$3,000.00	\$38.00	\$3,800.00	\$42.00	\$4,200.00	\$48.55	\$4,855.00	\$30.00	\$3,000.00
8	20700220	POROUS GRANULAR EMBANKMENT	100.0	CU YD	\$35.00	\$3,500.00	\$50.00	\$5,000.00	\$46.00	\$4,600.00	\$39.10	\$3,910.00	\$31.35	\$3,135.00	\$30.00	\$3,000.00
9	20800150	TRENCH BACKFILL	306.0	CU YD	\$35.00	\$10,710.00	\$10.00	\$3,060.00	\$39.00	\$11,934.00	\$40.65	\$12,438.90	\$37.05	\$11,337.30	\$33.00	\$10,098.00
10	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	3,755.0	SQ YD	\$1.50	\$5,632.50	\$1.00	\$3,755.00	\$1.15	\$4,318.25	\$2.50	\$9,387.50	\$1.80	\$6,759.00	\$1.00	\$3,755.00
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	5,165.0	SQ YD	\$4.50	\$23,242.50	\$2.75	\$14,203.75	\$3.65	\$18,852.25	\$2.85	\$14,720.25	\$2.75	\$14,203.75	\$1.00	\$5,165.00
12	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$1.00	\$100.00	\$14.50	\$1,450.00	\$40.00	\$4,000.00	\$27.85	\$2,785.00	\$20.00	\$2,000.00
13	25000210	SEEDING, CLASS 2A	0.0	ACRE	\$4,130.00	\$165.20	\$10,000.00	\$400.00	\$7,500.00	\$300.00	\$10,500.00	\$420.00	\$10,000.00	\$400.00	\$50,000.00	\$2,000.00
14	25000400	NITROGEN FERTILIZER NUTRIENT	103.0	POUND	\$3.00	\$309.00	\$2.00	\$206.00	\$2.00	\$206.00	\$2.05	\$211.15	\$2.00	\$206.00	\$1.00	\$103.00
15	25000600	POTASSIUM FERTILIZER NUTRIENT	103.0	POUND	\$3.00	\$309.00	\$2.00	\$206.00	\$2.00	\$206.00	\$2.05	\$211.15	\$2.00	\$206.00	\$1.00	\$103.00
16	25100630	EROSION CONTROL BLANKET	184.0	SQ YD	\$2.00	\$368.00	\$5.00	\$920.00	\$5.00	\$920.00	\$5.25	\$966.00	\$5.00	\$920.00	\$3.00	\$552.00
17	25200110	SODDING, SALT TOLERANT	4,981.0	SQ YD	\$7.50	\$37,357.50	\$5.75	\$28,640.75	\$6.15	\$30,633.15	\$5.90	\$29,387.90	\$5.75	\$28,640.75	\$7.50	\$37,357.50
18	28000305	TEMPORARY DITCH CHECKS	126.0	FOOT	\$15.00	\$1,890.00	\$15.00	\$1,890.00	\$13.50	\$1,701.00	\$15.40	\$1,940.40	\$15.00	\$1,890.00	\$10.00	\$1,260.00
19	28000400	PERIMETER EROSION BARRIER	3,975.0	FOOT	\$3.00	\$11,925.00	\$2.50	\$9,937.50	\$2.50	\$9,937.50	\$2.60	\$10,335.00	\$2.50	\$9,937.50	\$2.00	\$7,950.00
20	28000510	INLET FILTERS	27.0	EACH	\$200.00	\$5,400.00	\$25.00	\$675.00	\$150.00	\$4,050.00	\$153.75	\$4,151.25	\$121.85	\$3,289.95	\$25.00	\$675.00
21	28100707	STONE DUMPED RIPRAP, CLASS A4	25.0	SQ YD	\$125.00	\$3,125.00	\$230.00	\$5,750.00	\$117.50	\$2,937.50	\$74.00	\$1,850.00	\$131.35	\$3,283.75	\$100.00	\$2,500.00
22	28200200	FILTER FABRIC	25.0	SQ YD	\$5.00	\$125.00	\$1.00	\$25.00	\$4.00	\$100.00	\$60.00	\$1,500.00	\$1.25	\$31.25	\$10.00	\$250.00
23	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	4,130.0	SQ YD	\$30.00	\$123,900.00	\$9.15	\$37,789.50	\$15.50	\$64,015.00	\$11.95	\$49,353.50	\$20.70	\$85,491.00	\$11.00	\$45,430.00
24	35101598	AGGREGATE BASE COURSE, TYPE B, 3"	678.0	SQ YD	\$5.00	\$3,390.00	\$2.40	\$1,627.20	\$5.50	\$3,729.00	\$9.65	\$6,542.70	\$5.45	\$3,695.10	\$5.00	\$3,390.00
25	35101800	AGGREGATE BASE COURSE, TYPE B, 6"	700.0	SQ YD	\$10.00	\$7,000.00	\$4.80	\$3,360.00	\$8.00	\$5,600.00	\$8.90	\$6,230.00	\$15.55	\$10,885.00	\$8.00	\$5,600.00
26	35102200	AGGREGATE BASE COURSE, TYPE B, 10"	1,557.0	SQ YD	\$14.00	\$21,798.00	\$6.95	\$10,821.15	\$12.50	\$19,462.50	\$11.60	\$18,061.20	\$17.40	\$27,091.80	\$10.00	\$15,570.00
27	40600100	BITUMINOUS MATERIALS (PRIME COAT)	2,361.0	GAL	\$1.50	\$3,541.50	\$0.01	\$23.61	\$0.01	\$23.61	\$0.01	\$23.61	\$0.01	\$23.61	\$1.00	\$2,361.00
28	40600300	AGGREGATE (PRIME COAT)	30.0	TON	\$1.00	\$30.00	\$1.00	\$30.00	\$1.00	\$30.00	\$1.10	\$33.00	\$1.00	\$30.00	\$1.00	\$30.00
29	40600535	LEVELING BINDER (HAND METHOD), N70	3.0	TON	\$200.00	\$600.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$512.50	\$1,537.50	\$500.00	\$1,500.00	\$550.00	\$1,650.00



Project: Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Alliance Contr	actors, Inc.	Berger Excavatin	g Contractors	Campanella 8	& Sons, Inc.	Landmark Con	tractors, Inc.	A Lamp Concret	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30	40600837	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N70	277.0	TON	\$110.00	\$30,470.00	\$104.00	\$28,808.00	\$104.00	\$28,808.00	\$106.60	\$29,528.20	\$104.00	\$28,808.00	\$115.00	\$31,855.00
31	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	1,050.0	SQ YD	\$20.00	\$21,000.00	\$9.50	\$9,975.00	\$9.50	\$9,975.00	\$9.75	\$10,237.50	\$9.50	\$9,975.00	\$8.00	\$8,400.00
32	40603000	HOT-MIX ASPHALT BINDER COURSE, IL-12.5, N50	245.0	TON	\$70.00	\$17,150.00	\$88.00	\$21,560.00	\$88.00	\$21,560.00	\$90.20	\$22,099.00	\$88.00	\$21,560.00	\$93.00	\$22,785.00
33	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	1,369.0	TON	\$75.00	\$102,675.00	\$71.00	\$97,199.00	\$71.00	\$97,199.00	\$72.80	\$99,663.20	\$71.00	\$97,199.00	\$78.50	\$107,466.50
34	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	245.0	TON	\$85.00	\$20,825.00	\$101.00	\$24,745.00	\$101.00	\$24,745.00	\$103.55	\$25,369.75	\$101.00	\$24,745.00	\$105.00	\$25,725.00
35	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	901.0	TON	\$85.00	\$76,585.00	\$84.00	\$75,684.00	\$84.00	\$75,684.00	\$86.10	\$77,576.10	\$84.00	\$75,684.00	\$89.00	\$80,189.00
36	42001300	PROTECTIVE COAT	1,588.0	SQ YD	\$3.50	\$5,558.00	\$0.01	\$15.88	\$2.00	\$3,176.00	\$1.95	\$3,096.60	\$2.20	\$3,493.60	\$1.00	\$1,588.00
37	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,546.0	SQ FT	\$5.00	\$27,730.00	\$6.00	\$33,276.00	\$5.50	\$30,503.00	\$4.80	\$26,620.80	\$4.85	\$26,898.10	\$5.00	\$27,730.00
38	42400800	DETECTABLE WARNINGS	103.0	SQ FT	\$30.00	\$3,090.00	\$25.00	\$2,575.00	\$35.00	\$3,605.00	\$29.21	\$3,008.63	\$26.20	\$2,698.60	\$25.00	\$2,575.00
39	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, - 2 1/2"	323.0	SQ YD	\$20.00	\$6,460.00	\$9.50	\$3,068.50	\$9.50	\$3,068.50	\$9.75	\$3,149.25	\$9.50	\$3,068.50	\$5.00	\$1,615.00
40	44000200	DRIVEWAY PAVEMENT REMOVAL	62.0	SQ YD	\$15.00	\$930.00	\$30.00	\$1,860.00	\$9.25	\$573.50	\$28.70	\$1,779.40	\$10.90	\$675.80	\$11.00	\$682.00
41	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,676.0	FOOT	\$6.00	\$10,056.00	\$20.00	\$33,520.00	\$3.60	\$6,033.60	\$4.85	\$8,128.60	\$10.75	\$18,017.00	\$3.00	\$5,028.00
42	44000600	SIDEWALK REMOVAL	1,512.0	SQ FT	\$2.00	\$3,024.00	\$3.00	\$4,536.00	\$1.05	\$1,587.60	\$2.50	\$3,780.00	\$2.20	\$3,326.40	\$1.00	\$1,512.00
43	48102100	AGGREGATE WEDGE SHOULDER, TYPE B	95.0	TON	\$30.00	\$2,850.00	\$68.00	\$6,460.00	\$45.00	\$4,275.00	\$69.70	\$6,621.50	\$74.00	\$7,030.00	\$25.00	\$2,375.00
44	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTION 15"	1.0	EACH	\$1,000.00	\$1,000.00	\$300.00	\$300.00	\$1,250.00	\$1,250.00	\$720.00	\$720.00	\$1,930.90	\$1,930.90	\$1,500.00	\$1,500.00
45	550A0040	STORM SEWERS, CLASS A, TYPE 1 10"	88.0	FOOT	\$32.00	\$2,816.00	\$93.00	\$8,184.00	\$37.00	\$3,256.00	\$51.60	\$4,540.80	\$76.70	\$6,749.60	\$45.00	\$3,960.00
46	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	858.0	FOOT	\$34.00	\$29,172.00	\$93.00	\$79,794.00	\$37.00	\$31,746.00	\$49.45	\$42,428.10	\$77.00	\$66,066.00	\$45.00	\$38,610.00
47	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	43.0	FOOT	\$41.00	\$1,763.00	\$95.00	\$4,085.00	\$40.00	\$1,720.00	\$64.35	\$2,767.05	\$79.00	\$3,397.00	\$65.00	\$2,795.00
48	550A2320	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1 12"	28.0	FOOT	\$44.00	\$1,232.00	\$95.00	\$2,660.00	\$52.25	\$1,463.00	\$52.65	\$1,474.20	\$79.50	\$2,226.00	\$45.00	\$1,260.00
49	56400100	FIRE HYDRANTS TO BE MOVED	1.0	EACH	\$2,400.00	\$2,400.00	\$6,000.00	\$6,000.00	\$2,850.00	\$2,850.00	\$6,270.00	\$6,270.00	\$4,016.75	\$4,016.75	\$2,250.00	\$2,250.00
50	56400300	FIRE HYDRANTS TO BE ADJUSTED	1.0	EACH	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,300.00	\$1,300.00	\$1,000.00	\$1,000.00	\$1,713.75	\$1,713.75	\$1,200.00	\$1,200.00
51	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	2.0	EACH	\$2,200.00	\$4,400.00	\$3,450.00	\$6,900.00	\$1,850.00	\$3,700.00	\$2,425.00	\$4,850.00	\$2,938.35	\$5,876.70	\$2,000.00	\$4,000.00



Project: Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Alliance Contra	actors, Inc.	Berger Excavatin	g Contractors	Campanella 8	& Sons, Inc.	Landmark Con	tractors, Inc.	A Lamp Concret	,
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
52	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	6.0	EACH	\$2,100.00	\$12,600.00	\$3,450.00	\$20,700.00	\$2,100.00	\$12,600.00	\$2,745.00	\$16,470.00	\$3,078.45	\$18,470.70	\$2,100.00	\$12,600.00
53	60703805	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, OPEN LID	1.0	EACH	\$2,800.00	\$2,800.00	\$4,400.00	\$4,400.00	\$3,050.00	\$3,050.00	\$2,880.00	\$2,880.00	\$4,393.50	\$4,393.50	\$3,000.00	\$3,000.00
54	60204505	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$2,600.00	\$2,600.00	\$4,400.00	\$4,400.00	\$2,825.00	\$2,825.00	\$2,665.00	\$2,665.00	\$4,289.95	\$4,289.95	\$3,000.00	\$3,000.00
55	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	8.0	EACH	\$2,300.00	\$18,400.00	\$1,750.00	\$14,000.00	\$1,200.00	\$9,600.00	\$1,415.00	\$11,320.00	\$1,845.65	\$14,765.20	\$1,350.00	\$10,800.00
56	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	3.0	EACH	\$2,000.00	\$6,000.00	\$3,300.00	\$9,900.00	\$1,725.00	\$5,175.00	\$2,655.00	\$7,965.00	\$3,145.45	\$9,436.35	\$2,650.00	\$7,950.00
57	60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	4.0	EACH	\$2,800.00	\$11,200.00	\$4,200.00	\$16,800.00	\$2,625.00	\$10,500.00	\$2,670.00	\$10,680.00	\$4,235.10	\$16,940.40	\$3,500.00	\$14,000.00
58	60234200	INLETS, TYPE A, TYPE 1 FRAME, OPEN LID	2.0	EACH	\$1,300.00	\$2,600.00	\$1,650.00	\$3,300.00	\$1,100.00	\$2,200.00	\$1,270.00	\$2,540.00	\$1,748.15	\$3,496.30	\$1,000.00	\$2,000.00
59	60236200	INLETS, TYPE A, TYPE 8 GRATE	4.0	EACH	\$1,200.00	\$4,800.00	\$1,650.00	\$6,600.00	\$875.00	\$3,500.00	\$1,182.00	\$4,728.00	\$1,644.60	\$6,578.40	\$1,000.00	\$4,000.00
60	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	4.0	EACH	\$1,300.00	\$5,200.00	\$1,650.00	\$6,600.00	\$1,000.00	\$4,000.00	\$1,360.00	\$5,440.00	\$1,784.70	\$7,138.80	\$1,150.00	\$4,600.00
61	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$375.00	\$375.00	\$750.00	\$750.00	\$450.00	\$450.00	\$2,020.00	\$2,020.00	\$243.70	\$243.70	\$350.00	\$350.00
62	60266100	VALVE VAULTS TO BE RECONSTRUCTED	3.0	EACH	\$600.00	\$1,800.00	\$1,500.00	\$4,500.00	\$1,400.00	\$4,200.00	\$3,365.00	\$10,095.00	\$994.50	\$2,983.50	\$1,000.00	\$3,000.00
63	60500040	REMOVING MANHOLES	1.0	EACH	\$500.00	\$500.00	\$500.00	\$500.00	\$420.00	\$420.00	\$1,345.00	\$1,345.00	\$273.55	\$273.55	\$350.00	\$350.00
64	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	2,638.0	FOOT	\$19.00	\$50,122.00	\$22.50	\$59,355.00	\$25.00	\$65,950.00	\$19.85	\$52,364.30	\$23.10	\$60,937.80	\$23.00	\$60,674.00
65	60619600	CONCRETE MEDIAN, TYPE SB-6.12	832.0	SQ FT	\$25.00	\$20,800.00	\$13.25	\$11,024.00	\$11.00	\$9,152.00	\$14.15	\$11,772.80	\$15.70	\$13,062.40	\$12.00	\$9,984.00
66	60624620	CORRUGATED MEDIAN (MODIFIED)	831.0	SQ FT	\$25.00	\$20,775.00	\$10.00	\$8,310.00	\$8.00	\$6,648.00	\$11.15	\$9,265.65	\$15.80	\$13,129.80	\$12.00	\$9,972.00
67	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	100.0	FOOT	\$24.00	\$2,400.00	\$22.15	\$2,215.00	\$22.15	\$2,215.00	\$22.70	\$2,270.00	\$22.15	\$2,215.00	\$30.00	\$3,000.00
68	63000370	LONG-SPAN GUARDRAIL OVER CULVERT, 25 FT SPAN	325.0	FOOT	\$40.00	\$13,000.00	\$23.15	\$7,523.75	\$23.15	\$7,523.75	\$23.75	\$7,718.75	\$23.15	\$7,523.75	\$35.00	\$11,375.00
69	63100045	TRAFFIC BARRIER TERMINAL, TYPE 2	1.0	EACH	\$900.00	\$900.00	\$925.00	\$925.00	\$925.00	\$925.00	\$950.00	\$950.00	\$925.00	\$925.00	\$1,200.00	\$1,200.00
70	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	3.0	EACH	\$2,500.00	\$7,500.00	\$2,245.00	\$6,735.00	\$2,245.00	\$6,735.00	\$2,305.00	\$6,915.00	\$2,245.00	\$6,735.00	\$2,850.00	\$8,550.00
71	63200310	GUARDRAIL REMOVAL	300.0	FOOT	\$6.00	\$1,800.00	\$3.40	\$1,020.00	\$3.40	\$1,020.00	\$3.50	\$1,050.00	\$3.40	\$1,020.00	\$8.00	\$2,400.00
72	67100100	MOBILIZATION	1.0	L SUM	\$47,300.00	\$47,300.00	\$136,743.00	\$136,743.00	\$45,000.00	\$45,000.00	\$10,000.00	\$10,000.00	\$51,510.40	\$51,510.40	\$70,000.00	\$70,000.00
73	70106800	CHANGEABLE MESSAGE SIGN	4.0	CAL MO	\$500.00	\$2,000.00	\$1,200.00	\$4,800.00	\$1,550.00	\$6,200.00	\$1,281.25	\$5,125.00	\$1,250.00	\$5,000.00	\$500.00	\$2,000.00
74	70300100	SHORT TERM PAVEMENT MARKING	5,022.0	FOOT	\$1.00	\$5,022.00	\$0.01	\$50.22	\$0.01	\$50.22	\$0.01	\$50.22	\$0.01	\$50.22	\$0.50	\$2,511.00



Project: Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Alliance Contr	actors Inc	Berger Excavatin	ng Contractors	Campanella 8	Sone Inc	Landmark Con	tractors Inc	A Lamp Concret	
itelli No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
75	70300210	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS	340.0	SQ FT	\$1.00	\$340.00	\$2.75	\$935.00	\$1.35	\$459.00	\$1.45	\$493.00	\$1.35	\$459.00	\$1.00	\$340.00
76	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	5,964.0	FOOT	\$1.00	\$5,964.00	\$0.22	\$1,312.08	\$0.45	\$2,683.80	\$0.50	\$2,982.00	\$0.45	\$2,683.80	\$0.30	\$1,789.20
77	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	4,095.0	FOOT	\$1.00	\$4,095.00	\$0.28	\$1,146.60	\$0.55	\$2,252.25	\$0.60	\$2,457.00	\$0.55	\$2,252.25	\$0.50	\$2,047.50
78	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	745.0	FOOT	\$1.25	\$931.25	\$0.33	\$245.85	\$0.70	\$521.50	\$0.75	\$558.75	\$0.70	\$521.50	\$0.60	\$447.00
79	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	690.0	FOOT	\$1.50	\$1,035.00	\$0.66	\$455.40	\$1.35	\$931.50	\$1.40	\$966.00	\$1.35	\$931.50	\$1.00	\$690.00
80	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	72.0	FOOT	\$2.00	\$144.00	\$2.75	\$198.00	\$2.70	\$194.40	\$2.80	\$201.60	\$2.70	\$194.40	\$1.00	\$72.00
81	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	2,511.0	FOOT	\$0.75	\$1,883.25	\$0.01	\$25.11	\$0.01	\$25.11	\$0.01	\$25.11	\$0.01	\$25.11	\$0.50	\$1,255.50
82	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	837.0	SQ FT	\$1.00	\$837.00	\$0.01	\$8.37	\$0.01	\$8.37	\$1.10	\$920.70	\$0.01	\$8.37	\$0.10	\$83.70
83	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS & SYMBOLS	432.0	SQ FT	\$3.00	\$1,296.00	\$4.00	\$1,728.00	\$4.77	\$2,060.64	\$4.10	\$1,771.20	\$4.00	\$1,728.00	\$5.00	\$2,160.00
84	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	5,964.0	FOOT	\$0.60	\$3,578.40	\$0.84	\$5,009.76	\$0.72	\$4,294.08	\$0.65	\$3,876.60	\$0.60	\$3,578.40	\$1.20	\$7,156.80
85	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	150.0	FOOT	\$0.80	\$120.00	\$1.05	\$157.50	\$1.01	\$151.50	\$0.90	\$135.00	\$0.85	\$127.50	\$2.00	\$300.00
86	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	745.0	FOOT	\$1.00	\$745.00	\$1.25	\$931.25	\$1.07	\$797.15	\$0.95	\$707.75	\$0.90	\$670.50	\$3.00	\$2,235.00
87	/8000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	690.0	FOOT	\$2.00	\$1,380.00	\$2.50	\$1,725.00	\$2.39	\$1,649.10	\$2.20	\$1,518.00	\$2.00	\$1,380.00	\$5.00	\$3,450.00
88	/8000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	108.0	FOOT	\$3.00	\$324.00	\$4.00	\$432.00	\$4.77	\$515.16	\$4.40	\$475.20	\$4.00	\$432.00	\$9.00	\$972.00
89	78001110	PAINT PAVEMENT MARKING - LINE 4"	773.0	FOOT	\$0.80	\$618.40	\$0.38	\$293.74	\$0.78	\$602.94	\$0.70	\$541.10	\$0.65	\$502.45	\$0.60	\$463.80
90	78001120	PAINT PAVEMENT MARKING - LINE 5"	3,945.0	FOOT	\$1.00	\$3,945.00	\$0.48	\$1,893.60	\$1.07	\$4,221.15	\$0.95	\$3,747.75	\$0.90	\$3,550.50	\$0.80	\$3,156.00
91	/8003100	PREFORMED PLASTIC PAVEMENT MARKING, TYPE B - LETTERS AND SYMBOLS	22.0	SQ FT	\$3.00	\$66.00	\$45.00	\$990.00	\$53.68	\$1,180.96	\$47.25	\$1,039.50	\$45.00	\$990.00	\$55.00	\$1,210.00
92	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2"	600.0	FOOT	\$45.00	\$27,000.00	\$17.60	\$10,560.00	\$17.60	\$10,560.00	\$18.05	\$10,830.00	\$17.60	\$10,560.00	\$19.00	\$11,400.00



Project: Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

	Day Code	Secretaria:	0		F F		AU' C		B						A Lamp Concret	
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti Unit Price	Extnd. Price	Alliance Contra	Extnd. Price	Berger Excavatin Unit Price	Extnd. Price	Campanella a	& Sons, Inc. Extnd. Price	Landmark Con Unit Price	Extnd. Price	Unit Price	c. Extnd. Price
93	97000200	DRILL EXISTING HANDHOLE	4.0	EACH	\$290.00	\$1,160.00	\$660.00	\$2,640.00	\$660.00	\$2,640.00	\$676.50	\$2,706.00	\$660.00	\$2,640.00	\$700.00	\$2,800.00
93		REJECTED LOAD TRANSPORTATION	4.0	LOAD	\$50.00	\$1,160.00	\$500.00	\$2,040.00	\$200.00	\$800.00	\$250.00	\$1,000.00	\$615.27	\$2,461.08	\$100.00	\$400.00
34	LC200031	MAINTENANCE OF TEMPORARY EROSION	4.0	LOAD	\$30.00	\$200.00	\$300.00	\$2,000.00	\$200.00	\$800.00	\$250.00	\$1,000.00	Ş013.27	32,401.08	\$100.00	\$400.00
95	LC200501	CONTROL SYSTEMS	23,946.0	UNIT	\$1.00	\$23,946.00	\$1.00	\$23,946.00	\$1.00	\$23,946.00	\$1.00	\$23,946.00	\$1.00	\$23,946.00	\$1.00	\$23,946.00
96		PERMEABLE PLASTIC BERM	20.0	FOOT	\$10.00	\$200.00	\$30.00	\$600.00	\$11.00	\$220.00	\$31.50	\$630.00	\$36.55	\$731.00	\$25.00	\$500.00
97	LC400203	FIBER GLASS FABRIC REPAIR SYSTEM	1,830.0	FOOT	\$5.00	\$9,150.00	\$18.00	\$32,940.00	\$18.00	\$32,940.00	\$18.45	\$33,763.50	\$18.00	\$32,940.00	\$20.00	\$36,600.00
98	LC500228	GRATED CULVERT END SECTIONS, 24" DIAMETER	1.0	EACH	\$500.00	\$500.00	\$300.00	\$300.00	\$2,500.00	\$2,500.00	\$250.00	\$250.00	\$2,211.20	\$2,211.20	\$1,500.00	\$1,500.00
99	LC600200	INSTALL SURVEY MONUMENTS	1.0	EACH	\$435.00	\$435.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,964.00	\$2,964.00	\$1,500.00	\$1,500.00
100	LC782000	GUARDRAIL REFLECTORS	28.0	EACH	\$25.00	\$700.00	\$10.00	\$280.00	\$10.00	\$280.00	\$11.00	\$308.00	\$10.00	\$280.00	\$50.00	\$1,400.00
101	X0325825	PAVEMENT REPLACEMENT	84.0	SQ YD	\$45.00	\$3,780.00	\$152.75	\$12,831.00	\$130.00	\$10,920.00	\$170.15	\$14,292.60	\$148.80	\$12,499.20	\$100.00	\$8,400.00
102	X0322936	REMOVE EXISTING FLARED END SECTION	2.0	EACH	\$300.00	\$600.00	\$100.00	\$200.00	\$250.00	\$500.00	\$450.00	\$900.00	\$547.00	\$1,094.00	\$350.00	\$700.00
103	X2800500	INLET PROTECTION, SPECIAL	5.0	EACH	\$300.00	\$1,500.00	\$150.00	\$750.00	\$125.00	\$625.00	\$153.75	\$768.75	\$243.70	\$1,218.50	\$125.00	\$625.00
104	X4404000	PARKING LOT PAVEMENT REMOVAL	2,016.0	SQ YD	\$12.00	\$24,192.00	\$20.00	\$40,320.00	\$5.75	\$11,592.00	\$8.80	\$17,740.80	\$8.95	\$18,043.20	\$10.00	\$20,160.00
105	X5510100	STORM SEWER REMOVAL	281.0	FOOT	\$10.00	\$2,810.00	\$10.00	\$2,810.00	\$18.00	\$5,058.00	\$58.60	\$16,466.60	\$21.10	\$5,929.10	\$1.00	\$281.00
106	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	2,438.0	FOOT	\$10.00	\$24,380.00	\$4.00	\$9,752.00	\$6.00	\$14,628.00	\$3.00	\$7,314.00	\$6.00	\$14,628.00	\$10.00	\$24,380.00
107	X6026050	SANITARY MANHOLES TO BE ADJUSTED	4.0	EACH	\$600.00	\$2,400.00	\$500.00	\$2,000.00	\$800.00	\$3,200.00	\$2,430.00	\$9,720.00	\$511.50	\$2,046.00	\$500.00	\$2,000.00
108	X6026051	SANITARY MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$900.00	\$900.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$3,270.00	\$3,270.00	\$1,306.80	\$1,306.80	\$1,500.00	\$1,500.00
109	X6028300	INLETS TO BE REMOVED, SPECIAL	8.0	EACH	\$500.00	\$4,000.00	\$100.00	\$800.00	\$350.00	\$2,800.00	\$675.00	\$5,400.00	\$557.90	\$4,463.20	\$250.00	\$2,000.00
110	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$40,550.00	\$40,550.00	\$16,000.00	\$16,000.00	\$24,986.00	\$24,986.00	\$18,040.00	\$18,040.00	\$17,600.00	\$17,600.00	\$97,000.00	\$97,000.00
111	X7240505	RELOCATE SIGN PANEL AND POST	1.0	EACH	\$150.00	\$150.00	\$250.00	\$250.00	\$175.00	\$175.00	\$180.00	\$180.00	\$175.00	\$175.00	\$250.00	\$250.00
112	X8440110	RELOCATE EXISTING LIGHT POLE WITH LUMINAIRE	1.0	EACH	\$2,500.00	\$2,500.00	\$1,990.00	\$1,990.00	\$1,990.00	\$1,990.00	\$2,050.00	\$2,050.00	\$1,990.00	\$1,990.00	\$2,250.00	\$2,250.00
113	X8900010	TEMPORARY TRAFFIC SIGNAL INTERCONNECT	1.0	EACH	\$150,000.00	\$150,000.00	\$26,181.00	\$26,181.00	\$26,181.00	\$26,181.00	\$26,850.00	\$26,850.00	\$26,181.00	\$26,181.00	\$30,000.00	\$30,000.00
114	XX000856	MAILBOX REMOVAL AND RELOCATION	1.0	EACH	\$170.00	\$170.00	\$500.00	\$500.00	\$185.00	\$185.00	\$350.00	\$350.00	\$330.00	\$330.00	\$350.00	\$350.00
115	XX001249	ORNAMENTAL FENCE	101.0	FOOT	\$100.00	\$10,100.00	\$86.31	\$8,717.31	\$86.31	\$8,717.31	\$88.50	\$8,938.50	\$86.31	\$8,717.31	\$100.00	\$10,100.00
116	XX002094	REMOVE AND REINSTALL FIBER OPTIC CABLE IN CONDUIT	1,225.0	FOOT	\$2.25	\$2,756.25	\$6.80	\$8,330.00	\$6.80	\$8,330.00	\$7.00	\$8,575.00	\$6.80	\$8,330.00	\$7.25	\$8,881.25
117	XX006658	FLOCCULATION LOGS	5.0	EACH	\$100.00	\$500.00	\$250.00	\$1,250.00	\$150.00	\$750.00	\$256.25	\$1,281.25	\$250.00	\$1,250.00	\$25.00	\$125.00
118	XX006659	FLOCCULATION POWDER	20.0	POUND	\$10.00	\$200.00	\$20.00	\$400.00	\$22.00	\$440.00	\$22.00	\$440.00	\$20.00	\$400.00	\$10.00	\$200.00
119	XX007017	TERMINATE FIBER IN CABINET	16.0	EACH	\$75.00	\$1,200.00	\$311.00	\$4,976.00	\$311.00	\$4,976.00	\$318.80	\$5,100.80	\$311.00	\$4,976.00	\$325.00	\$5,200.00



Project: Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Alliance Cont	ractors, Inc.	Berger Excavati	ng Contractors	Campanella	& Sons, Inc.	Landmark Con	tractors, Inc.	A Lamp Concret	
	,				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
120	XZ127902	RETAINING WALL, SPECIAL	175.0	SQ FT	\$75.00	\$13,125.00	\$36.00	\$6,300.00	\$53.01	\$9,276.75	\$36.90	\$6,457.50	\$39.25	\$6,868.75	\$55.00	\$9,625.00
121	Z0019400	DRY RUBBLE STONE OR BROKEN CONCRETE TREE WELLS	1.0	CU YD	\$600.00	\$600.00	\$2,500.00	\$2,500.00	\$1,165.00	\$1,165.00	\$770.00	\$770.00	\$750.00	\$750.00	\$350.00	\$350.00
122	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$50,000.00	\$50,000.00	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00	\$9,000.00	\$9,000.00	\$670.00	\$670.00	\$15,000.00	\$15,000.00
123	Z0055905	TEMPORARY CONSTRUCTION FENCE	200.0	FOOT	\$5.00	\$1,000.00	\$2.89	\$578.00	\$5.00	\$1,000.00	\$3.30	\$660.00	\$2.89	\$578.00	\$3.00	\$600.00
124	Z0056642	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 6"	21.0	FOOT	\$45.00	\$945.00	\$110.00	\$2,310.00	\$72.00	\$1,512.00	\$63.70	\$1,337.70	\$75.55	\$1,586.55	\$70.00	\$1,470.00
125	Z0056648	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 12"	15.0	FOOT	\$65.00	\$975.00	\$140.00	\$2,100.00	\$85.00	\$1,275.00	\$101.55	\$1,523.25	\$90.99	\$1,364.85	\$90.00	\$1,350.00
126	Z0056652	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 18"	239.0	FOOT	\$81.00	\$19,359.00	\$180.00	\$43,020.00	\$90.00	\$21,510.00	\$79.10	\$18,904.90	\$104.40	\$24,951.60	\$125.00	\$29,875.00
127	Z0056654	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 24"	56.0	FOOT	\$106.00	\$5,936.00	\$220.00	\$12,320.00	\$110.00	\$6,160.00	\$102.20	\$5,723.20	\$136.15	\$7,624.40	\$150.00	\$8,400.00
128	Z0062450	SAWING PAVEMENT (FULL DEPTH)	1,830.0	FOOT	\$2.00	\$3,660.00	\$2.00	\$3,660.00	\$3.00	\$5,490.00	\$3.00	\$5,490.00	\$2.00	\$3,660.00	\$3.00	\$5,490.00
129	Z0077700	WOOD FENCE TO BE REMOVED AND RE- ERECTED	63.0	FOOT	\$50.00	\$3,150.00	\$26.45	\$1,666.35	\$30.00	\$1,890.00	\$27.10	\$1,707.30	\$26.45	\$1,666.35	\$30.00	\$1,890.00
		Bid Total			\$1,442,809.75		\$1,254,892.23		\$1,123,456.05		\$1,135,394.47		\$1,273,593.95		\$1,260,839.75	



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Es	stimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	124	UNITS	\$15.00	\$1,860.00	\$14.00	\$25.00	\$16.27
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	18	UNITS	\$20.00	\$360.00	\$30.00	\$30.75	\$30.15
3	20101100	TREE TRUNK PROTECTION	16	EACH	\$100.00	\$1,600.00	\$25.00	\$115.75	\$76.55
4	20101200	TREE TRUNK PRUNING	16	EACH	\$50.00	\$800.00	\$50.00	\$109.00	\$80.20
5	20101700	SUPPLEMENTAL WATERING	45	UNIT	\$25.00	\$1,125.00	\$0.01	\$5.00	\$1.06
6	20200100	EARTH EXCAVATION	2,601	CU YD	\$35.00	\$91,035.00	\$10.00	\$38.90	\$28.53
7	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	100	CU YD	\$25.00	\$2,500.00	\$30.00	\$48.55	\$37.71
8	20700220	POROUS GRANULAR EMBANKMENT	100	CU YD	\$35.00	\$3,500.00	\$30.00	\$50.00	\$39.29
9	20800150	TRENCH BACKFILL	306	CU YD	\$35.00	\$10,710.00	\$10.00	\$40.65	\$31.94
10	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	3,755	SQ YD	\$1.50	\$5,632.50	\$1.00	\$2.50	\$1.49
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	5,165	SQ YD	\$4.50	\$23,242.50	\$1.00	\$3.65	\$2.60
12	21301052	EXPLORATION TRENCH 52" DEPTH	100	FOOT	\$50.00	\$5,000.00	\$1.00	\$40.00	\$20.67
13	25000210	SEEDING, CLASS 2A	0	ACRE	\$4,130.00	\$165.20	\$7,500.00	\$50,000.00	\$17,600.00
14	25000400	NITROGEN FERTILIZER NUTRIENT	103	POUND	\$3.00	\$309.00	\$1.00	\$2.05	\$1.81
15	25000600	POTASSIUM FERTILIZER NUTRIENT	103	POUND	\$3.00	\$309.00	\$1.00	\$2.05	\$1.81
16	25100630	EROSION CONTROL BLANKET	<u>1</u> 84	SQ YD	\$2.00	\$368.00	\$3.00	\$5.25	\$4.65



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

**Section:** 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
17	25200110	SODDING, SALT TOLERANT	4,981	SQ YD	\$7.50	\$37,357.50	\$5.75	\$7.50	\$6.21
18	28000305	TEMPORARY DITCH CHECKS	126	FOOT	\$15.00	\$1,890.00	\$10.00	\$15.40	\$13.78
19	28000400	PERIMETER EROSION BARRIER	3,975	FOOT	\$3.00	\$11,925.00	\$2.00	\$2.60	\$2.42
20	28000510	INLET FILTERS	27	EACH	\$200.00	\$5,400.00	\$25.00	\$153.75	\$95.12
21	28100707	STONE DUMPED RIPRAP, CLASS A4	25	SQ YD	\$125.00	\$3,125.00	\$74.00	\$230.00	\$130.57
22	28200200	FILTER FABRIC	25	SQ YD	\$5.00	\$125.00	\$1.00	\$60.00	\$15.25
23	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	4,130	SQ YD	\$30.00	\$123,900.00	\$9.15	\$20.70	\$13.66
24	35101598	AGGREGATE BASE COURSE, TYPE B, 3"	678	SQ YD	\$5.00	\$3,390.00	\$2.40	\$9.65	\$5.60
25	35101800	AGGREGATE BASE COURSE, TYPE B, 6"	700	SQ YD	\$10.00	\$7,000.00	\$4.80	\$15.55	\$9.05
26	35102200	AGGREGATE BASE COURSE, TYPE B, 10"	1,557	SQ YD	\$14.00	\$21,798.00	\$6.95	\$17.40	\$11.69
27	40600100	BITUMINOUS MATERIALS (PRIME COAT)	2,361	GAL	\$1.50	\$3,541.50	\$0.01	\$1.00	\$0.21
28	40600300	AGGREGATE (PRIME COAT)	30	TON	\$1.00	\$30.00	\$1.00	\$1.10	\$1.02
29	40600535	LEVELING BINDER (HAND METHOD), N70	3	TON	\$200.00	\$600.00	\$500.00	\$550.00	\$512.50
30	40600837	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N70	277	TON	\$110.00	\$30,470.00	\$104.00	\$115.00	\$106.72
31	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	1,050	SQ YD	\$20.00	\$21,000.00	\$8.00	\$9.75	\$9.25
32	40603000	HOT-MIX ASPHALT BINDER COURSE, IL-12.5, N50	245	TON	\$70.00	\$17,150.00	\$88.00	\$93.00	\$89.44



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng E	stimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
33	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	1,369	TON	\$75.00	\$102,675.00	\$71.00	\$78.50	\$72.86
34	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	245	TON	\$85.00	\$20,825.00	\$101.00	\$105.00	\$102.31
35	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	901	TON	\$85.00	\$76,585.00	\$84.00	\$89.00	\$85.42
36	42001300	PROTECTIVE COAT	1,588	SQ YD	\$3.50	\$5,558.00	\$0.01	\$2.20	\$1.43
37	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,546	SQ FT	\$5.00	\$27,730.00	\$4.80	\$6.00	\$5.23
38	42400800	DETECTABLE WARNINGS	103	SQ FT	\$30.00	\$3,090.00	\$25.00	\$35.00	\$28.08
39	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, - 2 1/2"	323	SQ YD	\$20.00	\$6,460.00	\$5.00	\$9.75	\$8.65
40	44000200	DRIVEWAY PAVEMENT REMOVAL	62	SQ YD	\$15.00	\$930.00	\$9.25	\$30.00	\$17.97
41	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,676	FOOT	\$6.00	\$10,056.00	\$3.00	\$20.00	\$8.44
42	44000600	SIDEWALK REMOVAL	1,512	SQ FT	\$2.00	\$3,024.00	\$1.00	\$3.00	\$1.95
43	48102100	AGGREGATE WEDGE SHOULDER, TYPE B	95	TON	\$30.00	\$2,850.00	\$25.00	\$74.00	\$56.34
44	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTION 15"	1	EACH	\$1,000.00	\$1,000.00	\$300.00	\$1,930.90	\$1,140.18
45	550A0040	STORM SEWERS, CLASS A, TYPE 1 10"	88	FOOT	\$32.00	\$2,816.00	\$37.00	\$93.00	\$60.66
46	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	858	FOOT	\$34.00	\$29,172.00	\$37.00	\$93.00	\$60.29



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

**Section:** 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Es	stimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
47	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	43	FOOT	\$41.00	\$1,763.00	\$40.00	\$95.00	\$68.67
48	550A2320	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1 12"	28	FOOT	\$44.00	\$1,232.00	\$45.00	\$95.00	\$64.88
49	56400100	FIRE HYDRANTS TO BE MOVED	1	EACH	\$2,400.00	\$2,400.00	\$2,250.00	\$6,270.00	\$4,277.35
50	56400300	FIRE HYDRANTS TO BE ADJUSTED	1	EACH	\$500.00	\$500.00	\$1,000.00	\$2,000.00	\$1,442.75
51	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	2	EACH	\$2,200.00	\$4,400.00	\$1,850.00	\$3,450.00	\$2,532.67
52	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	6	EACH	\$2,100.00	\$12,600.00	\$2,100.00	\$3,450.00	\$2,694.69
53	60203805	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, OPEN LID	1	EACH	\$2,800.00	\$2,800.00	\$2,880.00	\$4,400.00	\$3,544.70
54	60204505	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 8 GRATE	1	EACH	\$2,600.00	\$2,600.00	\$2,665.00	\$4,400.00	\$3,435.99
55	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	8	EACH	\$2,300.00	\$18,400.00	\$1,200.00	\$1,845.65	\$1,512.13
56	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	3	EACH	\$2,000.00	\$6,000.00	\$1,725.00	\$3,300.00	\$2,695.09
57	60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	4	EACH	\$2,800.00	\$11,200.00	\$2,625.00	\$4,235.10	\$3,446.02
58	60234200	INLETS, TYPE A, TYPE 1 FRAME, OPEN LID	2	EACH	\$1,300.00	\$2,600.00	\$1,000.00	\$1,748.15	\$1,353.63
59	60236200	INLETS, TYPE A, TYPE 8 GRATE	4	EACH	\$1,200.00	\$4,800.00	\$875.00	\$1,650.00	\$1,270.32



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

**Section:** 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng E	stimate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
60	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	4	EACH	\$1,300.00	\$5,200.00	\$1,000.00	\$1,784.70	\$1,388.94
61	60255500	MANHOLES TO BE ADJUSTED	1	EACH	\$375.00	\$375.00	\$243.70	\$2,020.00	\$762.74
62	60266100	VALVE VAULTS TO BE RECONSTRUCTED	3	EACH	\$600.00	\$1,800.00	\$994.50	\$3,365.00	\$1,651.90
63	60500040	REMOVING MANHOLES	1	EACH	\$500.00	\$500.00	\$273.55	\$1,345.00	\$577.71
64	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	2,638	FOOT	\$19.00	\$50,122.00	\$19.85	\$25.00	\$22.69
65	60619600	CONCRETE MEDIAN, TYPE SB-6.12	832	SQ FT	\$25.00	\$20,800.00	\$11.00	\$15.70	\$13.22
66	60624620	CORRUGATED MEDIAN (MODIFIED)	831	SQ FT	\$25.00	\$20,775.00	\$8.00	\$15.80	\$11.39
67	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	100	FOOT	\$24.00	\$2,400.00	\$22.15	\$30.00	\$23.83
68	63000370	LONG-SPAN GUARDRAIL OVER CULVERT, 25 FT SPAN	325	FOOT	\$40.00	\$13,000.00	\$23.15	\$35.00	\$25.64
69	63100045	TRAFFIC BARRIER TERMINAL, TYPE 2	1	EACH	\$900.00	\$900.00	\$925.00	\$1,200.00	\$985.00
70	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	3	EACH	\$2,500.00	\$7,500.00	\$2,245.00	\$2,850.00	\$2,378.00
71	63200310	GUARDRAIL REMOVAL	300	FOOT	\$6.00	\$1,800.00	\$3.40	\$8.00	\$4.34
72	67100100	MOBILIZATION	1	L SUM	\$47,300.00	\$47,300.00	\$10,000.00	\$136,743.00	\$62,650.68
73	70106800	CHANGEABLE MESSAGE SIGN	4	CAL MO	\$500.00	\$2,000.00	\$500.00	\$1,550.00	\$1,156.25
74	70300100	SHORT TERM PAVEMENT MARKING	5,022	FOOT	\$1.00	\$5,022.00	\$0.01	\$0.50	\$0.11



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
75	70300210	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS	340	SQ FT	\$1.00	\$340.00	\$1.00	\$2.75	\$1.58
76	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	5,964	FOOT	\$1.00	\$5,964.00	\$0.22	\$0.50	\$0.38
77	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	4,095	FOOT	\$1.00	\$4,095.00	\$0.28	\$0.60	\$0.50
78	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	745	FOOT	\$1.25	\$931.25	\$0.33	\$0.75	\$0.62
79	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	690	FOOT	\$1.50	\$1,035.00	\$0.66	\$1.40	\$1.15
80	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	72	FOOT	\$2.00	\$144.00	\$1.00	\$2.80	\$2.39
81	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	2,511	FOOT	\$0.75	\$1,883.25	\$0.01	\$0.50	\$0.11
82	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	837	SQ FT	\$1.00	\$837.00	\$0.01	\$1.10	\$0.25
83	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS & SYMBOLS	432	SQ FT	\$3.00	\$1,296.00	\$4.00	\$5.00	\$4.37
84	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	5,964	FOOT	\$0.60	\$3,578.40	\$0.60	\$1.20	\$0.80
85	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	150	FOOT	\$0.80	\$120.00	\$0.85	\$2.00	\$1.16



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
86	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	745	FOOT	\$1.00	\$745.00	\$0.90	\$3.00	\$1.43
87	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	690	FOOT	\$2.00	\$1,380.00	\$2.00	\$5.00	\$2.82
88	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	108	FOOT	\$3.00	\$324.00	\$4.00	\$9.00	\$5.23
89	78001110	PAINT PAVEMENT MARKING - LINE 4"	773	FOOT	\$0.80	\$618.40	\$0.38	\$0.78	\$0.62
90	78001120	PAINT PAVEMENT MARKING - LINE 5"	3,945	FOOT	\$1.00	\$3,945.00	\$0.48	\$1.07	\$0.84
91	78003100	PREFORMED PLASTIC PAVEMENT MARKING, TYPE B - LETTERS AND SYMBOLS	22	SQ FT	\$3.00	\$66.00	\$45.00	\$55.00	\$49.19
92	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2"	600	FOOT	\$45.00	\$27,000.00	\$17.60	\$19.00	\$17.97
93	87900200	DRILL EXISTING HANDHOLE	4	EACH	\$290.00	\$1,160.00	\$660.00	\$700.00	\$671.30
94	LC200051	REJECTED LOAD TRANSPORTATION	4	LOAD	\$50.00	\$200.00	\$100.00	\$615.27	\$333.05
95	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	23,946	UNIT	\$1.00	\$23,946.00	\$1.00	\$1.00	\$1.00
96	LC200502	PERMEABLE PLASTIC BERM	20	FOOT	\$10.00	\$200.00	\$11.00	\$36.55	\$26.81
97	LC400203	FIBER GLASS FABRIC REPAIR SYSTEM	1,830	FOOT	\$5.00	\$9,150.00	\$18.00	\$20.00	\$18.49
98	LC500228	GRATED CULVERT END SECTIONS, 24" DIAMETER	1	EACH	\$500.00	\$500.00	\$250.00	\$2,500.00	\$1,352.24



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

**Section:** 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
99	LC600200	INSTALL SURVEY MONUMENTS	1	EACH	\$435.00	\$435.00	\$1,000.00	\$2,964.00	\$1,492.80
100	LC782000	GUARDRAIL REFLECTORS	28	EACH	\$25.00	\$700.00	\$10.00	\$50.00	\$18.20
101	X0325825	PAVEMENT REPLACEMENT	84	SQ YD	\$45.00	\$3,780.00	\$100.00	\$170.15	\$140.34
102	X0322936	REMOVE EXISTING FLARED END SECTION	2	EACH	\$300.00	\$600.00	\$100.00	\$547.00	\$339.40
103	X2800500	INLET PROTECTION, SPECIAL	5	EACH	\$300.00	\$1,500.00	\$125.00	\$243.70	\$159.49
104	X4404000	PARKING LOT PAVEMENT REMOVAL	2,016	SQ YD	\$12.00	\$24,192.00	\$5.75	\$20.00	\$10.70
105	X5510100	STORM SEWER REMOVAL	281	FOOT	\$10.00	\$2,810.00	\$1.00	\$58.60	\$21.74
106	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	2,438	FOOT	\$10.00	\$24,380.00	\$3.00	\$10.00	\$5.80
107	X6026050	SANITARY MANHOLES TO BE ADJUSTED	4	EACH	\$600.00	\$2,400.00	\$500.00	\$2,430.00	\$948.30
108	X6026051	SANITARY MANHOLES TO BE RECONSTRUCTED	1	EACH	\$900.00	\$900.00	\$1,306.80	\$3,270.00	\$1,915.36
109	X6028300	INLETS TO BE REMOVED, SPECIAL	8	EACH	\$500.00	\$4,000.00	\$100.00	\$675.00	\$386.58
110	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	\$40,550.00	\$40,550.00	\$16,000.00	\$97,000.00	\$34,725.20
111	X7240505	RELOCATE SIGN PANEL AND POST	1	EACH	\$150.00	\$150.00	\$175.00	\$250.00	\$206.00
112	X8440110	RELOCATE EXISTING LIGHT POLE WITH LUMINAIRE	1	EACH	\$2,500.00	\$2,500.00	\$1,990.00	\$2,250.00	\$2,054.00
113	X8900010	TEMPORARY TRAFFIC SIGNAL INTERCONNECT	1	EACH	\$150,000.00	\$150,000.00	\$26,181.00	\$30,000.00	\$27,078.60
114	XX000856	MAILBOX REMOVAL AND RELOCATION	1	EACH	\$170.00	\$170.00	\$185.00	\$500.00	\$343.00
115	XX001249	ORNAMENTAL FENCE	101	FOOT	\$100.00	\$10,100.00	\$86.31	\$100.00	\$89.49



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
116	XX002094	REMOVE AND REINSTALL FIBER OPTIC CABLE IN CONDUIT	1,225	FOOT	\$2.25	\$2,756.25	\$6.80	\$7.25	\$6.93
117	XX006658	FLOCCULATION LOGS	5	EACH	\$100.00	\$500.00	\$25.00	\$256.25	\$186.25
118	XX006659	FLOCCULATION POWDER	20	POUND	\$10.00	\$200.00	\$10.00	\$22.00	\$18.80
119	XX007017	TERMINATE FIBER IN CABINET	16	EACH	\$75.00	\$1,200.00	\$311.00	\$325.00	\$315.36
120	XZ127902	RETAINING WALL, SPECIAL	175	SQ FT	\$75.00	\$13,125.00	\$36.00	\$55.00	\$44.03
121	Z0019400	DRY RUBBLE STONE OR BROKEN CONCRETE TREE WELLS	1	CU YD	\$600.00	\$600.00	\$350.00	\$2,500.00	\$1,107.00
122	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1	L SUM	\$50,000.00	\$50,000.00	\$670.00	\$15,000.00	\$6,634.00
123	Z0055905	TEMPORARY CONSTRUCTION FENCE	200	FOOT	\$5.00	\$1,000.00	\$2.89	\$5.00	\$3.42
124	Z0056642	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 6"	21	FOOT	\$45.00	\$945.00	\$63.70	\$110.00	\$78.25
125	Z0056648	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 12"	15	FOOT	\$65.00	\$975.00	\$85.00	\$140.00	\$101.51
126	Z0056652	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 18"	239	FOOT	\$81.00	\$19,359.00	\$79.10	\$180.00	\$115.70
127	Z0056654	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 24"	56	FOOT	\$106.00	\$5,936.00	\$102.20	\$220.00	\$143.67
128	Z0062450	SAWING PAVEMENT (FULL DEPTH)	1,830	FOOT	\$2.00	\$3,660.00	\$2.00	\$3.00	\$2.60



**Project:** Winchester Road Left Turn Lane & Railroad Crossing

Section: 10-00151-22-CH

**Description:** Widening of Winchester Road for left turn lanes and a raised median through the Metra crossing

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
129	Z0077700	WOOD FENCE TO BE REMOVED AND RE- ERECTED	63	FOOT	\$50.00	\$3,150.00	\$26.45	\$30.00	\$28.00
	Bid Total				\$1,442,809.75				